

Contract ID: 14124 Counties: SALEM

Letting Date: June 03, 2014 District(s): S1

Call Order: 124 Project(s): 100% STATE

Contract Time: 12/08/14 COMPLETION DATE

Line No / Item ID Item Description		(1) RICHARD E PIERSON CONSTR CO INC		(2) SOUTH STATE INC			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Alt	t Set:	Cat A	It Member:	
0001 151006M	1.000	7,700.00000	7,700.00	5,000.00000	5,000.00		
PERFORMANCE BOND AND PAYMENT BOND	DOLL						
0004 153009P	(1)	15,000.00000	15,000.00	100.00000	100.00		
BAR CHART PROGRESS SCHEDULE AND UPDATES	LS						
0005 154003P	(1)	150,000.00000	150,000.00	121,500.00000	121,500.00		
MOBILIZATION	LS						
0008 157004M	1.000	2,500.00000	2,500.00	100.00000	100.00		
CONSTRUCTION LAYOUT	DOLL						
0009 158006M	2,400.000	2.00000	4,800.00	0.10000	240.00		
SILT FENCE	LF						



Tabulation of Bids

Contract ID: 14124 Counties: SALEM

Letting Date: June 03, 2014 District(s): S1

Call Order: 124 Project(s): 100% STATE

Contract Time: 12/08/14 COMPLETION DATE

	o / Item ID escription		(1) RICHARD CONSTR		(2) SOUTH S	STATE INC		
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY		Cat Al	Set:	Cat A	It Member:	
0012	159003M	12.000	0.01000	0.12	1.00000	12.00		
BREAKA	WAY BARRICADE	U						
0013	159006M	120.000	0.01000	1.20	1.00000	120.00		
DRUM		U						
0014	159009M	190.000	0.01000	1.90	1.00000	190.00		
TRAFFIC	CONE	U						
0015	159012M	248.000	0.01000	2.48	10.00000	2,480.00		
CONSTR	RUCTION SIGNS	SF						
0016	159015M	2.000	1,000.00000	2,000.00	100.00000	200.00		
CONSTR SIGN, 4'	RUCTION IDENTIFICA X 8'	TION U						

Page: 3

Contract ID: 14124 Counties: SALEM

Letting Date: June 03, 2014 District(s): S1

Call Order: 124 Project(s): 100% STATE

Contract Time: 12/08/14 COMPLETION DATE

	o / Item ID escription		(1) RICHARD CONSTR		(2) SOUTH S	STATE INC		
Alt Set	t / Alt Member Q	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0017	159027M	1.000	500.00000	500.00	10.00000	10.00		
FLASHIN	IG ARROW BOARD, 4'	X 8' U						
0018	159030M	2.000	3,000.00000	6,000.00	3,000.00000	6,000.00		
PORTAB SIGN	LE VARIABLE MESSA	GE U						
0019	159108M	1.000	7,500.00000	7,500.00	3,000.00000	3,000.00		
-	CONTROL TRUCK WIED CRASH CUSHION	TH U						
0020	159126M	49,632.000	0.24000	11,911.68	0.30000	14,889.60		
TEMPOR 4"	RARY TRAFFIC STRIPE	S, LF						
0021	159141M	1,200.000	0.01000	12.00	0.01000	12.00		
TRAFFIC	DIRECTOR, FLAGGE	R HOUR						



Contract ID: 14124 Counties: SALEM

Letting Date: June 03, 2014 District(s): S1

Call Order: 124 Project(s): 100% STATE

Contract Time: 12/08/14 COMPLETION DATE

Line No / Item ID Item Description		(1) RICHARD E PIERSON CONSTR CO INC		(2) SOUTH STATE INC				
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	I: 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0022	160004M	1.000	8,800.00000	8,800.00	8,800.00000	8,800.00		
FUEL PRI	CE ADJUSTMENT	DOLL						
0023	160007M	1.000	29,300.00000	29,300.00	29,300.00000	29,300.00		
ASPHALT	PRICE ADJUSTMEN	NT DOLL						
0024	161003P	(1)	3,000.00000	3,000.00	1.00000	1.00		
FINAL CLE	EANUP	LS						
0025	201003P	(1)	30,000.00000	30,000.00	2,000.00000	2,000.00		
CLEARING	SITE	LS						
0026	401009P	117,185.000	1.40000	164,059.00	1.15000	134,762.75		
HMA MILL	ING, 3" OR LESS	SY						
0027	401015P	2,400.000	2.50000	6,000.00	1.00000	2,400.00		
CONCRET	E MILLING	SY						



Page: 5

Contract ID: 14124 Counties: SALEM

Letting Date: June 03, 2014 District(s): S1

Call Order: 124 Project(s): 100% STATE

Contract Time: 12/08/14 COMPLETION DATE

	o / Item ID escription		(1) RICHARD CONSTR		(2) SOUTH	STATE INC		
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0028	401021M	425.000	25.00000	10,625.00	50.00000	21,250.00		
HOT MIX REPAIR	ASPHALT PAVEME	NT SY						
0029	401027M	74,135.000	0.01000	741.35	0.42000	31,136.70		
POLYME	RIZED JOINT ADHE	SIVE LF						
0030	401030M	6,045.000	2.50000	15,112.50	0.01000	60.45		
TACK CO	DAT	GAL						
0031	401054M	13,490.000	65.50000	883,595.00	86.00000	1,160,140.00		
_	(ASPHALT 12.5 M 64 E COURSE	1 T						
0032	401108M	65.000	50.00000	3,250.00	10.00000	650.00		
CORE SA	AMPLES, HOT MIX T	U						



Page: 6

Contract ID: 14124 Counties: SALEM

Letting Date: June 03, 2014 District(s): S1

Call Order: 124 Project(s): 100% STATE

Contract Time: 12/08/14 COMPLETION DATE

	lo / Item ID Description		(1) RICHARD CONSTR		(2) SOUTH	STATE INC		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0033	453006M	200.000	300.00000	60,000.00	200.00000	40,000.00		
_	EPTH CONCRETE ENT REPAIR, HMA	SY						
0034	602210M	1.000	300.00000	300.00	500.00000	500.00		
BICYCLI	E SAFE GRATE	U						
0035	610003M	84,605.000	0.28000	23,689.40	0.27000	22,843.35		
TRAFFIC	C STRIPES, 4"	LF						
0036	610009M	120,000.000	0.01000	1,200.00	0.01000	1,200.00		
TRAFFIC	CMARKINGS	SF						
0037	610015M	590.000	10.00000	5,900.00	10.00000	5,900.00		
RPM, BI	-DIRECTIONAL, WHIT	E U						



Tabulation of Bids

Contract ID: 14124 Counties: SALEM

Letting Date: June 03, 2014 District(s): S1

Call Order: 124 Project(s): 100% STATE

Contract Time: 12/08/14 COMPLETION DATE

Line No / Item ID Item Description		(1) RICHARD E PIERSON CONSTR CO INC		(2) SOUTH STATE INC			
Alt Set / Alt Mem	ber Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0038 610021M	315.000	43.00000	13,545.00	43.00000	13,545.00		
RPM, BI-DIRECTIO LENS	NAL, AMBER U						
0039 610033M	24,442.000	0.15000	3,666.30	0.20000	4,888.40		
RUMBLE STRIP	LF						
Section Totals:			\$1,470,712.93		\$1,633,231.25		



Tabulation of Bids

Contract ID: 14124 Counties: SALEM

Letting Date: June 03, 2014 District(s): S1

Call Order: 124 Project(s): 100% STATE

Contract Time: 12/08/14 COMPLETION DATE

Contract Description: ROUTE 45 RESURFACING FROM CR 653 TO CR 616

Ochtraot Booomption.	TOOTE TO TREGOTA	7101110111011101	1000 10 011	7.0			
Line No / Item ID Item Description		(1) RICHARD E PIERSON CONSTR CO INC		(2) SOUTH STATE INC			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	CONSTRUCTION	ON ENGINEERING	G Cat Alt	Set:	Cat A	It Member:	
0006 155006M	1.000	12,500.00000	12,500.00	20,000.00000	20,000.00		
FIELD OFFICE TYPE B SET U	IP U						
0007 155024M	12.000	1,500.00000	18,000.00	100.00000	1,200.00		
FIELD OFFICE TYPE B MAINTENANCE	МО						

Section Totals: \$30,500.00 \$21,200.00

Tabulation of Bids

Contract ID: 14124 Counties: SALEM

Letting Date: June 03, 2014 District(s): S1

Call Order: 124 Project(s): 100% STATE

Contract Time: 12/08/14 COMPLETION DATE

Contract Description: ROUTE 45 RESURFACING FROM CR 653 TO CR 616

Line No / Item ID Item Description		(1) RICHARD E CONSTR C		(2) SOUTH S	STATE INC		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003	NON-PARTICP	PATING (ROADWA	Y) Cat Alt	Set:	Cat A	It Member:	
0002 152004P	1.000	4,240.00000	4,240.00	4,000.00000	4,000.00		
OWNER'S AND CONTRACTO PROTECTIVE LIABILITY INSURANCE	DR'S DOLL						
0003 152015P	1.000	8,700.00000	8,700.00	75.00000	75.00		
POLLUTION LIABILITY INSUR	RANCE DOLL						

Section Totals: \$12,940.00 \$4,075.00



Contract ID: 14124 Counties: SALEM

Letting Date: June 03, 2014 District(s): S1

Call Order: 124 Project(s): 100% STATE

Contract Time: 12/08/14 COMPLETION DATE

Contract Description: ROUTE 45 RESURFACING FROM CR 653 TO CR 616

Line No / Item ID Item Description		(1) RICHARD CONSTR		(2) SOUTH S	STATE INC		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	EROSION CON	NTROL	Cat Alt	Set:	Cat A	It Member:	
0010 158027M	96.000	12.50000	1,200.00	0.01000	0.96		
INLET FILTER TYPE 1	SF						
0011 158072M	2.000	0.01000	0.02	150.00000	300.00		
OIL ONLY EMERGENCY SE TYPE 1	PILL KIT, U						

Section Totals: \$1,200.02 \$300.96



Page: 11

Contract ID: 14124 Counties: SALEM

Letting Date: June 03, 2014 District(s): S1

Call Order: 124 Project(s): 100% STATE

Contract Time: 12/08/14 COMPLETION DATE

	Line No / Item ID Item Description		(1) RICHARD E PIERSON CONSTR CO INC		(2) SOUTH STATE INC			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N: 0005	GENERAL LAN	IDSCAPE	Cat Alt	Set:	Cat A	It Member:	
0040	802021M	5.000	500.00000	2,500.00	600.00000	3,000.00		
TREE REI	MOVAL, OVER 6" 7 R	ΓΟ 12" U						
0041	802027M	1.000	1,000.00000	1,000.00	1,500.00000	1,500.00		
TREE REI	MOVAL, OVER 18" R	TO 24" U						
0042	805003M	46,110.000	0.01000	461.10	0.05000	2,305.50		
TURF REF	PAIR STRIP	LF						
0043	805010M	800.000	8.00000	6,400.00	5.00000	4,000.00		
REGRADE	E BERM	SY						
Sectio	on Totals:			\$10,361.10		\$10,805.50		
	Со	ntract Totals		\$1,525,714.05		\$1,669,612.71		



Contract ID: 14124 Counties: SALEM

Letting Date: June 03, 2014 District(s): S1

Call Order: 124 Project(s): 100% STATE

Contract Time: 12/08/14 COMPLETION DATE

Contract Description: ROUTE 45 RESURFACING FROM CR 653 TO CR 616

Cost Plus Time Totals \$1,525,714.05 \$1,669,612.71

() indicates item is bid as Lump Sum



Vendor Ranking

Page: 1

Call Order: 124 Contract ID: 14124 Counties: SALEM

Letting Date: June 03, 2014 10:00 AM District(s): S1

Contract Time: 12/08/14 COMPLETION DATE

Contract Description: ROUTE 45 RESURFACING FROM CR 653 TO CR 616 Project(s): 100% STATE

Rank	Vendo	r ID/Name	Total Bid	Percent Of Low Bid
1	P4195	RICHARD E PIERSON CONSTR CO INC	\$1,525,714.05	100.00%
2	S6836	SOUTH STATE INC	\$1,669,612.71	109.43%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,